S A8

£) M= S xe | % oot 7 <> PG

>=10
F X eZ { Xwnoe 120 Vv xwo’.r=c:§
X&I-/ﬂ;nbzi[

i

2) 4

3) AR 2x£,W£m! x wod A 20 §

?H’E Z((x:c? A x#fm‘\ﬂ/{uga’j:(f
A xhgcfj,":&)g

1) g = $xed4, 920, [ xned/ 220 A xwor 3450}

5) /” T f){é[‘:fc?f‘ﬁ?jé [ xwmwo Z 5T  p
xwedd 3 =0 :-IP

ﬁyéZ/ﬂ}-{o-..j ; ((MG-Z}uK.{:’f,,,
xe (8> -p0)



M 2 A B = gye[-fa,'/alafxmaxj'ao*f

Avd = xa2 ly wa/ §0 vxsj-;q*mfi

D A\D = fyve2\{320.%5 .05 | xwod 320

= A\ A - Z'fej-r«:?;/afaf Mmcx/fe:}cﬁj




S 3) Aud L A 0B

/4—:5 ) /uE
3

3. X +

@Jb] N (ﬁf«:g)

i 4y

,_) Aoppelte /;,,ﬁaﬁ
i {2 . ‘_):] b) :D:-I(L-ij(tiu

& lMowplewcun t

) petuley Ot

N é‘dfﬂ;f:w(y

P 1

> b~ B ;()f:"s_\ﬂ({f-g‘)






ﬁfl-[t#x'& + uf;,x Y ~2"_S:H? -~ 9x3 ~ {'fj,x VAN

4, 6) ae (32065 = (c-2+(a L)) - (=)
s A

o 4(3_(£+5-—C+2~&£]) —c +4

~—a + 3~ +C +ta —c +Y

7




A0SR 4 04T € n Y+ Oc) ) 1 O2)(4)

Aoy — M4+ (xd -y W



-
/! - 2 Ax =D
\.')(—"‘ / ) (:'J ﬁ)
CLW /N B AW ALY
QF /'f ?(/_’ 1.: f?.',{_l}il _ /?
-+ py - él
(Fes —ac -7 gfi7 43 -ax
4y = A = Y - A
-9) < Y 3 5 . e

WA 5 U4 ol e s ol o« SThxJerve (i )e2)

’&S?Vr‘%i’*"” + 80 20, ¢+ vox - 32



